


(i) Which one of the following is facilitative
welfare service ?

(a) . Leave travel concession

(b) Indoor game ifacility

(c)»Providing: ‘money  'to employees for
purchasing of ‘cycle.

(d) All of the above.

lulrlf‘. inamagrnaVl)

(iii) Whlbh of fc&,q\ying is not a form
of industrial dls%tié

(a) Striké”"‘ goull areil
(b) On leaVe g o) i

wup 21 10l

(c) Boycott
~ (d) Gherao

(iv) Which form of collective bargaining benefits
both" the employees and employers ?

(a) Distributive collective bargaining
(b) Integrative coliective bargaining

(c) Attltudmaﬂ collectrve bargammg
« " 10!
(d) Intra-orgamsat;onal collectlve bargaining
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(viii) What should be the minimum age of &
office bearer of a registered trade union

(a) 18 years
'(b) 20 years
(c) 15 years
(d) 16 years

(ix) Lock-out . under Sec 2(1) of Industrial
Disputes Act, 1947 means

(a) the closing of place of employment
(b) the suspension of work

(c) the refusal by an employer to continue
to employ any number of persons -
employed by him.

(d) All of the above.

(X) Section 46 of Factory Act imposes the ‘ e e et :
(d) What are the limitations of arbitration ?

obligation for canteen only when the number
of workers exceeds

(a) 200 workers
(b) 250 workers
(c) 300 workers
(d) 100 workers
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- features of retrenchme







